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Chapter 3 Hand-in Assignment — Polvnomials

Name:

1. Complete the following table of p

ial cf istics.

¥

Characteristic

Sl =ax' —Te' 3" +x—4

Sl ==3x"+ 26" 3" + 2x 4]

Sign of leading cocfficient

Degree (is it odd or even?)

End behavior

this degree can have

Mumber of y-intercepts an equation of

between and

between and

Coordinates of p-intercept

Dromain
Range

2. Use long division 1o find the quotient of the following polynomial division guestion:
(26507 4357 -12) +(x-2)

Write the final answer as a division statement in this form:

Pix)

x—a
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Chapter 3 Hand-in Assignment — Polvnomials

Name: l<€ n
J

1. Complete the ing table of polynomial cf istics
Characteristic JU=ax' =T -3 x—d | Jln =37+ 20 -3 4 2re ]
Sign of leading coefficient + —
Degree (is it odd or even?) even odd
End behavior Tz *fR\ A L R4
e o el AN O peteen  and 4| between | and S
Courdinales of y-intercept (0,-4) o, 1)
Domain {xlxé %) {xl)l.émB
Range $u1y 2E12.0) ey Tuly € RY
kU techaolodsy Fo fiad this valed 0w Y A 4

2. Use long division 1o find the quotient of the following polynomial division question:
(26507 4357 -12) +(x-2)

Write the final answer as a division statement in this form:

Pix)

x—a

27 —x" ¢ x
~ (' - ) |
—_’T;Bx"

2= 57 312
- =
X =&

x> #0x
~(x*-2x)
2x —12
-(2x-4)
-

=(x)+

R

x—a

:2,(3_)( L+x+’.l + "L

X-2
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3. Use synthetic division 1o find the quotient of the following pelynomial division question:
(3" -6 + 3x+ T) (x4 1)

3. Use synthetic division 1o find the quotient of the following pelynomial division question:

(3" -6 + 3x+ T) (x4 1)
Write the final answer as a division statement in this form:

Write the final answer as a division statement in this form:

D%z -¢ 307

cemainde”
/

B-GxT+32x+71 2_qx+l2 + =
,3)(’4—’ = 3x X1
X 4L
4. Show the use of the remainder theorem to find the remainder for the following:
a) (20t =50+ 37+ 20 -5) < (x-3)

4. Show the use of the rer

ainder theorem to find the remainder for the following:
a) (20t =50+ 37+ 20 -5) < (x-3)

Remainder hen e dinde L‘J X=3 is :Luut( + Pz,
&)

»

2 -5 £33N+ 23 =S
2(8) -5(27) +3(1) t & —S

I

"

162 — 135 +27T +!
= 55
b) (=57 +15x—6)+(x+2) b) (=57 +15x—6)+(x+2)
Bemainder hen we divde by XA is egual 4o P (-2)

e(-2) = —5("2)2 +15(-2) L
:—5(‘!)*—39 -¢

= -0 -3¢
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3. Determine the value of & if we know that the remainder for this division question is 11,
(45" —bx+8)=(x-3)

6, Find the value of & if we know that ¥ —2is a factor of —3x* + kv’ — 200" + Sy + 62 .

7. List all possible integral zeros for the polynomial: f{x) =" —8x" +20

8. Fully factor the following polynomial: 2xt o3’ - 237 4 2T 45

9. Determine the equation of the function shown in the graph.

(-3 :|l[|v 0) |[-| 1)
1
|
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3. Determine the value of & if we know that the remainder for this division question is 11,
(45" —bx+8)=(x-3)

o cemandes when we  divide 1"2 X-2 is |, e knows that
e(3) =1l
e(s) = H(2 —k(3) +3 =11

h(ar) - 3k +3 =1
tog -3k +8 =1l
-3k = j|—1o% -3

6. Find the value of & if we know that x—2is a factor of —3x' + &' - 24 E
T6 x-a = a factor of the plyrominl PO, e know Haat
f(a) =0
2 2 -5
0r2) = —a(D +k(2) —20 () * S(2) +62 0
(1) FR(E) —20(0) 410 H6Z =

—4g + gk — g0 4+ 72 =0
gk -3¢ =D
Tk :&

2 2

7. List all possible integral zeros for the polynomial: f(x) = x* ~8x" + 20

Iﬂkg"‘t 2ers are  Qivisors of the constant .

M F.,s.s.‘H(_ mkénl 2ems o L) arel

4
8. Fully factor the following polynomial: 2pt o3y’ 237 4 2Tx 445
3 YeHs K gossible inkegrl zers
d * DL - :
- —3(1)=23(1) +27 of #s :
?(\3, 2D 3(1) " fachr are dinsors

ug 4o, xt s BT

= 1, ks
D - ;(_\57_3(—03 _3)Tr DA ES . 3{/ s
i ;D = 41 is a Fachr +s,*a

9 -3 -22 27 45

&0 :
-5 -18 uys &mﬁm&f

2 gy 4s
2%° -5 ~BX + 45 S e, W)= e (207 S8 )
now, Wty do £Ad aother factor?

P (3) = a(3y- S’ -BES

=0 =

2 -° -3 45
- 3

us
o

s PR G (3 (2x X s)

exther kee usm_a Srchor theonm ¢ donison,
e can

Now

or WL M j’:+ Frcor Polyromial, £y rched

v
AxF+ XIS = (XD 6-3) (:43) (2x-5)
2y6x —Sx-LS
h=-30 ax
‘:lrsvs 6rS o (43— SCx*D)
e

=1 ) = x42) (2%=S) oD
9. Determine the equation of the function shown in the graph. | | :
(-3.0) 1['J«;-] | (a '4/ (X"‘i
3 E— [ N S
y > o (x4 D02F (=) o — | \l ‘
Siace L) goei ‘vakgh 0,3, we knoo ; \ |‘

2 za(0+® (0-2) *(0—9) " \ |
2= e (3) (D° (~4) U
N NI . '
=5 = Q/C:ﬂ)—— a= 5 ;3—‘ y: -+ (X*B)O@Z) O(*‘i)
~10% ~19%




10, Determine the equation of the function that has the following:
Roots at =2, <1 (multiplicity 3) and 4 {multiplicity 2) and a y-i
You do NOT need to expand the equation — just leave it in factored form.

10, Determine the equation of the function that has the following:
Roots at -2, <1 (multiplicity 3) and 4 {multiplicity 2) and a y-intercept at (0. - §).
You do NOT need to expand the equation — just leave it in factored form.

plat (0, - &)

3 2 (o,~8 >

\} — 4 (x42) )Y () sk g Fheogh )
3 z
= = a(0%2) co+1 (0-*4)
-3 = "
-¢ = al2 Ol
~% = a(2)0)00) gt i 423 oy (x-H)
%g—; 2Za , a=3°F Y=
11a) Give the mapping that shows what happens to points on the base function, y=x" , when 11a) Give the mapping that shows what happens to points on the base function, ¥ = x° , when

p |
the equation is changed to _|-=£ —%n -1 | -2 /@
R I
(AR “EGltD

Oﬁ‘j)"’ ('9’("21 ':Llﬂ "2>

. 33
. . (N i

the equation is changed 1o y = 3173 x-1|-2
L)

b Fill in the table of key points for the base funciion. Using the mapping, create the table of
image points that result when the original points are transformed. Sketch the transformed
graph on the grid.

b Fill in the table of key points for the base function, Using the mapping, create the table of
image points that result when the original points are transformed. Sketch the transformed
graph on the grid.
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12, Use the graph of the given function to fill in the 12, Use the graph of the given function to fill in the 1]
table below. table below. /
1 1
I of 10 f [ A 1 10
Characteristic Characteristic
Roots of the equation f{x) =0 Ruoots of the equation f(x) =0 X=-x X=3, X= H
End Behavior End Behavior ez T at

Intervals where v = fix)is greater than or equal
1o 0

Intervals where v = () is less than 0

13, Ifa box has a volume represented by Fix)=2x"—17x" +27x +18, determine the

Intervals where v = f{x)is greater than or equal
o

—R4x £ 32, Xx2H

Intervals where v = f(x)is less than 0

X <=2

3<LX <M

13, Ifa box has a volume represented by F(x)=2x"—17+" + 2'.'.1-—@ determine the

di i of the box, as exp in terms of x. dimensions of the box, as expressions in terms of x. /v
; . 42,49
SEN . sable tokgerl zews aw: 2,
We. hove o fac /%) P> S 13,44
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N (D) = a0 A7 AT 18 = 20

N() za(d) -n@) i3 +18 =0
= X3 s a Fa ctor

2 —llx —¢

Se for, VEO= (x5 (2x*=1IX~6)
2 _ — 4
Now, we fucior /;ZX x ’
A c

AC=2(¢) = =12 [

srodecd
urnbt? sum

-2,

ngz—lnx +xX~L
= D lx=6) +1(X~ED
= (=) (2xt 1D

So,
Vix) = (x8) (x—6D (2x+1 b}
D) box dimeasions are

x~é
X=>
2x+(

=~12
1




